Transfers Report

This report contains the transfers results.

Contest Name

Ward 22 - Buckhaven Methil & Wemyss Villages

Valid Votes
Positions to be Filled
Quota

5,468 4 1,094

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Leslie BAIN	Scottish National Party (SNP)	635
Keith Henry BARTON	Scottish Conservative and Unionist	507
Ken CALDWELL	Scottish National Party (SNP)	842
Eunice CAMERON	Independent	57
Stephen FERGUSON	Scottish Green Party	78
David GRAHAM	Scottish Labour Party	1,661
Ronald HUNTER	Independent	137
John O'BRIEN	Scottish National Party (SNP)	991
Rory ROBERSON	Scottish Liberal Democrats	62
Ryan SMART	Scottish Labour Party	498
	Total	5,468

Candidate David GRAHAM Elected with 1,661 votes, being in excess of the quota of 1,094

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of David GRAHAM

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Leslie BAIN	34	0.34136	11.60624
Transfer to Keith Henry BARTON	39	0.34136	13.31304
Transfer to Ken CALDWELL	56	0.34136	19.11616
Transfer to Eunice CAMERON	14	0.34136	4.77904
Transfer to Stephen FERGUSON	16	0.34136	5.46176
Transfer to David GRAHAM	0	0.00000	0.00000
Transfer to Ronald HUNTER	33	0.34136	11.26488
Transfer to John O'BRIEN	70	0.34136	23.89520
Transfer to Rory ROBERSON	22	0.34136	7.50992
Transfer to Ryan SMART	1,220	0.34136	416.45920
Value of non-transferable ballot papers			53.59456
	Total		567.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Eunice CAMERON

Action	Total No. of Ballo Papers	Transfer Value	Votes Transferred
Transfer to Leslie BAIN		0.34136	0.34136
Transfer to Leslie BAIN	:	1.00000	2.00000
Transfer to Keith Henry BARTON	:	1.00000	2.00000
Transfer to Keith Henry BARTON	:	0.34136	0.68272
Transfer to Ken CALDWELL		1.00000	1.00000
Transfer to Stephen FERGUSON	9	1.00000	9.00000
Transfer to Stephen FERGUSON	:	0.34136	0.68272
Transfer to David GRAHAM		0.00000	0.00000
Transfer to Ronald HUNTER	:	0.34136	0.68272
Transfer to Ronald HUNTER	30	1.00000	36.00000
Transfer to John O'BRIEN		0.34136	0.34136
Transfer to Rory ROBERSON		1.00000	1.00000
Transfer to Ryan SMART	;	3 1.00000	3.00000
Transfer to Ryan SMART		0.34136	1.36544
Value of non-transferable ballot papers			3.68272
	Total		61.77904

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Rory ROBERSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Leslie BAIN	1	0.34136	0.34136
Transfer to Leslie BAIN	4	1.00000	4.00000
Transfer to Keith Henry BARTON	11	1.00000	11.00000
Transfer to Keith Henry BARTON	4	0.34136	1.36544
Transfer to Ken CALDWELL	2	1.00000	2.00000
Transfer to Eunice CAMERON	0	0.00000	0.00000
Transfer to Stephen FERGUSON	7	1.00000	7.00000
Transfer to Stephen FERGUSON	1	0.34136	0.34136
Transfer to David GRAHAM	0	0.00000	0.00000
Transfer to Ronald HUNTER	11	1.00000	11.00000
Transfer to John O'BRIEN	5	1.00000	5.00000
Transfer to Ryan SMART	14	1.00000	14.00000
Transfer to Ryan SMART	8	0.34136	2.73088
Value of non-transferable ballot papers			11.73088
	Total		70.50992

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Stephen FERGUSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Leslie BAIN	11	1.00000	11.00000
Transfer to Keith Henry BARTON	4	1.00000	4.00000
Transfer to Keith Henry BARTON	1	0.34136	0.34136
Transfer to Ken CALDWELL	1	0.34136	0.34136
Transfer to Ken CALDWELL	15	1.00000	15.00000
Transfer to Eunice CAMERON	0	0.00000	0.00000
Transfer to David GRAHAM	0	0.00000	0.00000
Transfer to Ronald HUNTER	18	1.00000	18.00000
Transfer to Ronald HUNTER	3	0.34136	1.02408
Transfer to John O'BRIEN	2	0.34136	0.68272
Transfer to John O'BRIEN	19	1.00000	19.00000
Transfer to Rory ROBERSON	0	0.00000	0.00000
Transfer to Ryan SMART	9	1.00000	9.00000
Transfer to Ryan SMART	6	0.34136	2.04816
Value of non-transferable ballot papers			20.04816
	Total		100.48584

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Ronald HUNTER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Leslie BAIN	1	0.34136	0.34136
Transfer to Leslie BAIN	9	1.00000	9.00000
Transfer to Keith Henry BARTON	27	1.00000	27.00000
Transfer to Keith Henry BARTON	1	0.34136	0.34136
Transfer to Ken CALDWELL	1	0.34136	0.34136
Transfer to Ken CALDWELL	14	1.00000	14.00000
Transfer to Eunice CAMERON	0	0.00000	0.00000
Transfer to Stephen FERGUSON	0	0.00000	0.00000
Transfer to David GRAHAM	0	0.00000	0.00000
Transfer to John O'BRIEN	19	1.00000	19.00000
Transfer to John O'BRIEN	2	0.34136	0.68272
Transfer to Rory ROBERSON	0	0.00000	0.00000
Transfer to Ryan SMART	20	0.34136	6.82720
Transfer to Ryan SMART	46	1.00000	46.00000
Value of non-transferable ballot papers			91.43768
	Total		214.97168

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Keith Henry BARTON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Leslie BAIN	1	0.34136	0.34136
Transfer to Leslie BAIN	9	1.00000	9.00000
Transfer to Ken CALDWELL	10	1.00000	10.00000
Transfer to Ken CALDWELL	1	0.34136	0.34136
Transfer to Eunice CAMERON	0	0.00000	0.00000
Transfer to Stephen FERGUSON	0	0.00000	0.00000
Transfer to David GRAHAM	0	0.00000	0.00000
Transfer to Ronald HUNTER	0	0.00000	0.00000
Transfer to John O'BRIEN	1	0.34136	0.34136
Transfer to John O'BRIEN	5	1.00000	5.00000
Transfer to Rory ROBERSON	0	0.00000	0.00000
Transfer to Ryan SMART	189	1.00000	189.00000
Transfer to Ryan SMART	21	0.34136	7.16856
Value of non-transferable ballot papers			345.85128
	Total		567.04392

Transfers Report

This report contains the transfers results.

Stage 8 - Surplus of Ryan SMART

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Leslie BAIN	42	0.02900	1.21800
Transfer to Leslie BAIN	30	0.08497	2.54910
Transfer to Keith Henry BARTON	0	0.00000	0.00000
Transfer to Ken CALDWELL	33	0.08497	2.80401
Transfer to Ken CALDWELL	60	0.02900	1.74000
Transfer to Eunice CAMERON	0	0.00000	0.00000
Transfer to Stephen FERGUSON	0	0.00000	0.00000
Transfer to David GRAHAM	0	0.00000	0.00000
Transfer to Ronald HUNTER	0	0.00000	0.00000
Transfer to John O'BRIEN	101	0.02900	2.92900
Transfer to John O'BRIEN	78	0.08497	6.62766
Transfer to Rory ROBERSON	0	0.00000	0.00000
Transfer to Ryan SMART	0	0.00000	0.00000
Value of non-transferable ballot papers			83.73167
	Total		101.59944

Transfers Report

This report contains the transfers results.

Stage 9 - Exclusion of Leslie BAIN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Keith Henry BARTON	0	0.00000	0.00000
Transfer to Ken CALDWELL	32	0.02900	0.92800
Transfer to Ken CALDWELL	19	0.08497	1.61443
Transfer to Ken CALDWELL	19	0.34136	6.48584
Transfer to Ken CALDWELL	527	1.00000	527.00000
Transfer to Eunice CAMERON	0	0.00000	0.00000
Transfer to Stephen FERGUSON	0	0.00000	0.00000
Transfer to David GRAHAM	0	0.00000	0.00000
Transfer to Ronald HUNTER	0	0.00000	0.00000
Transfer to John O'BRIEN	84	1.00000	84.00000
Transfer to John O'BRIEN	7	0.34136	2.38952
Transfer to John O'BRIEN	5	0.08497	0.42485
Transfer to John O'BRIEN	4	0.02900	0.11600
Transfer to Rory ROBERSON	0	0.00000	0.00000
Transfer to Ryan SMART	0	0.00000	0.00000
Value of non-transferable ballot papers			63.78014
	Total		686.73878